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BEANRE AHGEEEALSBERER T IERAEER TR LT

& b Hg - kT B H = B h & %5 =
R 2,962, 184
TIRAEBRERERETS 2,962, 184
TIRAEBRERERETS 2,962, 184
E R 2,873,700
HEEE 415, 450
1 S EEE 1.00 415, 450 415, 450
%
it - ®E 423,100
2 BHIE 1.00 117, 400 117, 400
=
3 hRERE 1.00 117, 400 117, 400
=
4 RAEBE 1.00 188, 300 188, 300
=
EBERER 1,042, 200
5 hEEHEER 3.00 347, 400 1,042, 200
=
HEREREEEE 559, 400
6 MERAEREEBE 1.00 559, 400 559, 400
%
R 433, 550
T REEER 1.00 433, 550 433, 550
%
EERE 88, 484
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AFARER 17, 800

8 NEAMERER 1.00 17, 800 17,800
=

EHARE 24,684

9 ZHAME 1.00 24,684 24,684
=

EBHAERRE 46, 000

10 £BERRHE 1.00 46, 000 46, 000
=




WiEE THSFEEREREERIER T RRTHREMERETS

% g & - BARTE Bifg B 2 B ® & wmzE
BRI 2,891,500 + 70,684 2,962, 184
EEAGE 2,891,500
EEEE 70, 684
T DR 2,891,500 x 53.85% ( 35% = (1 — 35% ) ) 1,557,072
EHRE 2,962,184 + 1,557,072 4,519, 256
—REEES 4,519,256 x 53.85% (35% — (1 — 35%) ) — 2,875 2,430, 744
KB 4,519,256 + 2,430,744 6, 950, 000
HBETEALE 6,950,000 x 10.00% 695, 000
ES E AT 6,950,000 + 695, 000 7,645, 000
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B FTEER 1KY
2 o g - BIRTE BT H = B ff ® " =
HE - HEE
A 1.00 70, 900. 00 70, 900
FEHER
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
AR (B)
A 2.50 45, 300. 00 113, 250
& it 1EZREA - 1.00 415, 450. 00 415, 450
&5 :2
& . BRTHE IEED)
£ 7 R - BIRTE BAGL #H = B Of € # B &
FEHER
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
= it YEZERES ¢ 1.00[E 117, 400. 00 117, 400
5 :3
AF5 . hRRE 1EHY
2 £ g - BIRTE BT H = B ff ® " =
FEHER
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
& it YE%8EH 1. 00[E 117, 400. 00 117, 400
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FS 4
A RBRBRE EED)
2 L7 g - BIRTE By = B O{f ® " =
HE - HEE
A 1.00 70, 900. 00 70, 900
FEHER
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& it YE%8EH 1. 00[E 188, 300. 00 188, 300
E =)
2 HEEREER IEED)
£ r R - KT By = B O{f € # B &
HEm (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 2.00 45, 300. 00 90, 600
A (C)
A 3.00 35, 600. 00 106, 800
Hftt 8
A 3.00 31, 600. 00 94, 800
= 5 YEZERES - 1.00[E 347, 400. 00 347, 400
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HS:6
& ERATRESEIE 1KY
2 L7 g - BIRTE By = B O{f ® " =
F R
A 1.00 62, 200. 00 62, 200
AR (A)
A 2.00 55, 200. 00 110, 400
AR (B)
A 4.00 45, 300. 00 181, 200
HEf (C)
A 4.00 35, 600. 00 142, 400
Hti&
A 2.00 31, 600. 00 63, 200
& b 1EZRER : 1,00 559, 400. 00 559, 400
B&S:7
B MESER B
£ 5 R - BAKTiE By = B O{f € # B &
FEEER
A 1.50 62, 200. 00 93, 300
HEn (A)
A 2.50 55, 200. 00 138, 000
HER (B)
A 2.50 45, 300. 00 113, 250
A (C)
A 2.50 35, 600. 00 89, 000
= 5 YEZERED 1. 00 433, 550. 00 433, 550
5:8
B AFEAREMIER 1KY
2 L7 g - BIRTE By = B O{f ® " =
HAf (C)
A 0.50 35, 600. 00 17, 800
& b 1EZREA - 1.00 17, 800. 00 17, 800
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59
&% EHRARE D)
% FR B - BKTE B £ B 5 w &
EBRAME
= 1.00 24, 684. 00 24,684
& &t EE8ES ¢ 1.00K 24, 684. 00 24 684
H5:10
% FR B - BAIKSTR Bif g B i £ w =
EHHERE
= 1.00 46, 000. 00 46, 000
& it 1EZE8EH - 1. 00X 46, 000. 00 46, 000




